
 

 

�<EF № 1 

�А$&А-#�А! &�$$�&"$�� 
 

#BOEA<F9?PA4O ;4C<E>4 
1. %6989A<O B F9DD<FBD<< 6OCB?A9A<O >B@C?9>EAOI >484EFDB6OI D45BF: 46:04:080403 

(A4<@9AB64A<9 EG5N9>F4 $BEE<=E>B= (989D4J<<, @GA<J<C4?PAB7B B5D4;B64A<S, A4E9?9AAB7B CGA>F4, GA<>4?PAO9 GK9FAO9 AB@9D4 >484EFDB6OI >64DF4?B6, <AO9 E6989A<S, CB;6B?SRM<9 
BCD989?<FP @9EFBCB?B:9A<9 F9DD<FBD<<, A4 >BFBDB= 6OCB?ASRFES >B@C?9>EAO9 >484EFDB6O9 D45BFO, A4CD<@9D, A4<@9AB64A<9 E48B6B8K9E>B7B <?< B7BDB8A<K9E>B7B A9>B@@9DK9E>B7B 
FB64D<M9EF64, 74D4:AB7B >BBC9D4F<64, Q?9@9AF4 C?4A<DB6BKAB= EFDG>FGDO) 

2. "EAB64A<O 6OCB?A9A<O >B@C?9>EAOI >484EFDB6OI D45BF: 
!4<@9AB64A<9, 84F4 < AB@9D 8B>G@9AF4, A4 BEAB64A<< >BFBDB7B 6OCB?ASRFES >B@C?9>EAO9 >484EFDB6O9 D45BFO: 
МGA<J<C4?PAO= >BAFD4>F BF 19.01.2024 №24-4642-�/0004 

3. �4F4 CB87BFB6>< >4DFO-C?4A4 F9DD<FBD<< 5 <N?O 2024 7. 

4. %6989A<O B ;4>4;K<>9(4I) >B@C?9>EAOI >484EFDB6OI D45BF: 
� BFABL9A<< RD<8<K9E>B7B ?<J4, BD74A4 @9EFAB7B E4@BGCD46?9A<S @GA<J<C4?PAB7B D4=BA4, @GA<J<C4?PAB7B B>DG74 <?< 7BDB8E>B7B B>DG74 ?<5B 
GCB?AB@BK9AAB7B <ECB?A<F9?PAB7B BD74A4 7BEG84DEF69AAB= 6?4EF< EG5N9>F4 $BEE<=E>B= (989D4J<<: 
 CB?AB9 <?< EB>D4M9AAB9 (6 E?GK49, 9E?< <@99FES) A4<@9AB64A<9:  А8@<A<EFD4J<O �BDL9K9AE>B7B D4=BA4 КGDE>B= B5?4EF< 

 BEAB6AB= 7BEG84DEF69AAO= D97<EFD4J<BAAO= AB@9D:  1054600009408 

 <89AF<H<>4J<BAAO= AB@9D A4?B7BC?4F9?PM<>4:  4604004372 

� BFABL9A<< H<;<K9E>B7B ?<J4 <?< CD98EF46<F9?S H<;<K9E><I <?< RD<8<K9E><I ?<J: 
 H4@<?<S, <@S, BFK9EF6B (CBE?98A99 - CD< A4?<K<<):  — 

 EFD4IB6B= AB@9D <A8<6<8G4?PAB7B ?<J96B7B EK9F4 6 E<EF9@9 B5S;4F9?PAB7B C9AE<BAAB7B EFD4IB64A<S $BEE<=E>B= (989D4J<< (%!��%): — 

!4<@9AB64A<9 < D9>6<;<FO 8B>G@9AF4, CB8F69D:84RM<9 CB?AB@BK<S CD98EF46<F9?S ;4>4;K<>4(B6) >B@C?9>EAOI >484EFDB6OI D45BF: 
— 

�8D9E Q?9>FDBAAB= CBKFO (8?S A4CD46?9A<S G698B@?9A<S B D9;G?PF4F4I 6A9E9A<S E6989A<= 6 �8<AO= 7BEG84DEF69AAO= D99EFD A986<:<@BEF<):  
gorshechnoe@reg-kursk.ru 

5. %6989A<O B5 <ECB?A<F9?9 >B@C?9>EAOI >484EFDB6OI D45BF: 
 

#B?AB9 <?< EB>D4M9AAB9 (6 E?GK49, 9E?< <@99FES) A4<@9AB64A<9 < 48D9E RD<8<K9E>B7B ?<J4, E >BFBDO@ ;4>?RK9A 7BEG84DEF69AAO= <?< @GA<J<C4?PAO= 
>BAFD4>F ?<5B 8B7B6BD CB8DS84 A4 6OCB?A9A<9 >B@C?9>EAOI >484EFDB6OI D45BF: ��К " BE>484EFD", H<?<4? ��К " BE>484EFD" CB КGDE>B= B5?4EF<, 
КGDE>4O B5?., 7. КGDE>, CDB9;8 !9D79964, ;8. 10 А 

(4@<?<S, <@S, BFK9EF6B >484EFDB6B7B <A:9A9D4 (CBE?98A99 - CD< A4?<K<<): �6K<AA<>B64 !69F?4A4 Ф98BDB6A4 < BEAB6AB= 7BEG84DEF69AAO= D97<EFD4J<BAAO= 
AB@9D >484EFDB6B7B <A:9A9D4 <A8<6<8G4?PAB7B CD98CD<A<@4F9?S ("�$!�#): — 



 

 

�<EF № 2 

�А$&А-#�А! &�$$�&"$�� 

%FD4IB6B= AB@9D <A8<6<8G4?PAB7B ?<J96B7B EK9F4 6 E<EF9@9 B5S;4F9?PAB7B C9AE<BAAB7B EFD4IB64A<S $BEE<=E>B= (989D4J<< (%!��%) >484EFDB6B7B 
<A:9A9D4: 071-018-630 23 

'A<>4?PAO= D99EFDB6O= AB@9D >484EFDB6B7B <A:9A9D4 6 D99EFD9 E4@BD97G?<DG9@B= BD74A<;4J<< >484EFDB6OI <A:9A9DB6 < 84F4 6A9E9A<S E6989A<= B 
H<;<K9E>B@ ?<J9 6 F4>B= D99EFD: А-1953  4 89>45DO 2023 7. 

#B?AB9 <?< (6 E?GK49, 9E?< <@99FES) EB>D4M9AAB9 A4<@9AB64A<9 E4@BD97G?<DG9@B= BD74A<;4J<< >484EFDB6OI <A:9A9DB6, K?9AB@ >BFBDB= S6?S9FES 
>484EFDB6O= <A:9A9D: АEEBJ<4J<O "!BN; >484EFDB6OI <A:9A9DB6" 

�BAF4>FAO= F9?9HBA: 8-910-211-93 41 

#BKFB6O= 48D9E < 48D9E Q?9>FDBAAB= CBKFO, CB >BFBDO@ BEGM9EF6?S9FES E6S;P E >484EFDB6O@ <A:9A9DB@: КGDE>4O B5?., 7. КGDE>, CDB9;8 !9D79964, ;8. 10 А, 
s_ovchinnikova@46.kadastr.ru 
 

6. #9D9K9AP 8B>G@9AFB6, <ECB?P;B64AAOI CD< CB87BFB6>9 >4DFO-C?4A4 F9DD<FBD<<: 

№ C/C 
$9>6<;<FO 8B>G@9AF4 

�<8 �4F4 !B@9D !4<@9AB64A<9 �AO9 E6989A<O 
 

1 2 3 4 5 6 

1 4 10.01.2024 

�'��-

001/2024-

7138152 

�484EFDB6O= C?4A F9DD<FBD<< 4 

2 �AB= 15.05.2012 13 

#D46<?4 ;9@?9CB?P;B64A<S < ;4EFDB=>< @GA<J<C4?PAB7B 
B5D4;B64A<S "!<:A95BD>B6E><= E9?PEB69F" �BDL9K9AE>B7B 
D4=BA4 �GDE>B= B5?4EF< 

4 

3 4 02.07.2024 
170-

20775/2024-� 

�OC<E>4 B CGA>F4I 7BEG84DEF69AAB= 79B89;<K9E>B= E9F<, 
7BEG84DEF69AAB= A<69?<DAB= E9F< < 7BEG84DEF69AAB= 
7D46<@9FD<K9E>B= E9F< 

4 

 



 

 

�<EF № 3 

�А$&А-#�А! &�$$�&"$�� 

7. #BOEA9A<O > >4DF9-C?4AG F9DD<FBD<<: 

1. 1.      "5M<9 E6989A<O. 
�B@C?9>EAO9 >484EFDB6O9 D45BFO 6OCB?ASRFES A4 BEAB64A<< @GA<J<C4?PAB7B >BAFD4>F4 BF 19.01.2024 №24-4642-�/0004. &9DD<FBD<S 6OCB?A9A<S 
>B@C?9>EAOI >484EFDB6OI D45BF - >484EFDB6O= >64DF4? 46:04:080403. "5D4;B64A<9 ;9@9?PAOI GK4EF>B6 A9 CDB6B8<?BEP, 6 E6S;< E BFEGFEF6<9@ CDB9>F4 
@9:964A<S A4 F9DD<FBD<< 6OCB?A9A<S >B@C?9>EAOI >484EFDB6OI D45BF. �B@C?9>EAO9 >484EFDB6O9 D45BFO CDB6989AO 6 BFABL9A<<  20 ;9@9?PAOI GK4EF>B6, 
15 B5N9>FB6 >4C<F4?PAB7B EFDB<F9?PEF64. 

2. 2.      %6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I. 

%B7?4EAB CD46<?4@ ;9@?9CB?P;B64A<S < ;4EFDB=>< @GA<J<C4?PAB7B B5D4;B64A<S «!<:A95BD>B6E><= E9?PEB69F» �BDL9K9AE>B7B D4=BA4  �GDE>B= B5?4EF< 
F9DD<FBD<S >484EFDB6B7B >64DF4?4 46:04:080403 D4ECB?B:9A4 6 F9DD<FBD<4?PAOI ;BA4I: &9DD<FBD<4?PA4S ;BA4 3 «�1» 3 ;BA4 ;4EFDB=>< <A8<6<8G4?PAO@< 
:<?O@< 8B@4@<, &9DD<FBD<4?PA4S ;BA4 3 «$» 3 ;BA4 D9>D94J<BAAB7B A4;A4K9A<S, &9DD<FBD<4?PA4S ;BA4 3 «"1» 3 ;BA4 89?B6B7B, B5M9EF69AAB7B < 
>B@@9DK9E>B7B A4;A4K9A<S, &9DD<FBD<4?PA4S ;BA4 3 «%)2» 3 ;BA4, ;4ASF4S B5N9>F4@< E9?PE>BIB;S=EF69AAB7B A4;A4K9A<S 6A9 7D4A<J A4E9?9AAOI CGA>FB6, 
&9DD<FBD<4?PA4S ;BA4 3 «�!» 3 ;BA4 <AB7B A4;A4K9A<S, 6 EBBF69FEF6<< E @9EFAO@< GE?B6<S@< 6 7D4A<J4I A4E9?9AAOI CGA>FB6. 
#D46<?4@< ;9@?9CB?P;B64A<S < ;4EFDB=>< @GA<J<C4?PAB7B B5D4;B64A<S «!<:A95BD>B6E><= E9?PEB69F» �BDL9K9AE>B7B D4=BA4 �GDE>B= B5?4EF<, 
GF69D:89AAO@< D9L9A<9@ %B5D4A<S 89CGF4FB6 !<:A954D>B6E>B7B E9?PEB69F4  �BDL9K9AE>B7B D4=BA4 �GDE>B= B5?4EF< BF 15.05.2012 №13, GEF4AB6?9AO 
CD989?PAO9 (@<A<@4?PAO9 < (<?<) @4>E<@4?PAO9) D4;@9DO ;9@9?PAOI GK4EF>B6:    
- 8?S ;BAO �1 @<A<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 400 @2 FB?P>B 8?S BEAB6AOI 6<8B6 D4;D9L9AAB7B <ECB?P;B64A<S, 8?S GE?B6AB-D4;D9L9AAB7B < 
6ECB@B74F9?PAOI 6<8B6 D4;D9L9AAB7B <ECB?P;B64A<S A9 GEF4A46?<649FES; @4>E<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 5000 @2; 
- 8?S ;BAO $ CD989?PAO9 (@<A<@4?PAO9 < (<?<) @4>E<@4?PAO9) D4;@9DO ;9@9?PAOI GK4EF>B6, 6 FB@ K<E?9 <I C?BM48P 3 A9 GEF4A46?<64RFES; 
- 8?S ;BAO "1 @<A<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<649FES; @4>E<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<64RFES; 
- 8?S ;BAO %)2 @<A<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<649FES; @4>E<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<64RFES; 
- 8?S ;BAO �! @<A<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<649FES; @4>E<@4?PAO= D4;@9D ;9@9?PAB7B GK4EF>4 3 A9 GEF4A46?<64RFES. 
� D9;G?PF4F9 6OCB?A9A<S >B@C?9>EAOI >484EFDB6OI D45BF 5O?B GFBKA9AO 20 ;9@9?PAOI GK4EF>B6: 46:04:080403:1, 46:04:080403:10, 46:04:080403:11, 

46:04:080403:12, 46:04:080403:15, 46:04:080403:16, 46:04:080403:17, 46:04:080403:18, 46:04:080403:19, 46:04:080403:2, 46:04:080403:3, 46:04:080403:4, 

46:04:080403:46, 46:04:080403:50, 46:04:080403:6, 46:04:080403:7, 46:04:080403:8, 46:04:080403:86, 46:04:080403:9, CD< QFB@ ;A4K9A<9 C?BM489= ;9@9?PAOI 
GK4EF>B6, CB?GK9AAOI CD< GFBKA9A<< @9EFBCB?B:9A<S <I 7D4A<J, BF?<K4RFES BF ;A4K9A<= C?BM489= CB 84AAO@ ��$! A4 69?<K<AG A9 5B?99 GEF4AB6?9AAB7B 
@<A<@4?PAB7B D4;@9D4 ;9@9?PAB7B GK4EF>4 EB7?4EAB #D46<? ;9@?9CB?P;B64A<S < ;4EFDB=>< 8?S F9DD<FBD<4?PAB= ;BAO «�-1» - 400 >6.@. 
#D< GFBKA9A<< 7D4A<J ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@ 46:04:080403:14 5O?B 6OS6?9AB, KFB H4>F<K9E>< BCD989?9AAO9 ;A4K9A<S C?BM48< 84AAB7B 
;9@9?PAB7B GK4EF>4 @9APL9 ;A4K9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E6989A<S  B  >BFBDOI EB89D:4FES 6 ��$!, 5B?99 K9@ A4 89ESFP CDBJ9AFB6. %6989A<S B 
F4><I ;9@9?PAOI GK4EF>4I 6>?RK4RFES 6 >4DFG - C?4A F9DD<FBD<< CD< A4?<K<< C<EP@9AAB7B EB7?4E<S CD46BB5?484F9?9= F4><I ;9@9?PAOI GK4EF>B6 E 
D9;G?PF4F4@< >B@C?9>EAOI >484EFDB6OI D45BF, >BFBDB9 6IB8<F 6 EBEF46 CD<?B:9A<S > EBBF69FEF6GRM9= >4DF9 - C?4AG F9DD<FBD<<. 

3. 3.      %6989A<O B5 GFBKAO9@OI B5N9>F4I >4C<F4?PAB7B EFDB<F9?PEF64. 
#D< 6OCB?A9A<< >B@C?9>EAOI >484EFDB6OI D45BF 5O?< CDB4A4?<;<DB64AO E6989A<S ��$!, <@9RM<9ES @4F9D<4?O < 8B>G@9AFO A4 B5N9>FO >4C<F4?PAB7B 
EFDB<F9?PEF64. � D9;G?PF4F9 84AAOI D45BF 5O?B GFBKA9AB @9EFBCB?B:9A<9  15 B5N9>FB6 >4C<F4?PAB7B EFDB<F9?PEF64: 46:04:080403:51, 46:04:080403:54, 



 

 

�<EF № 4 

�А$&А-#�А! &�$$�&"$�� 
46:04:080403:55, 46:04:080403:64, 46:04:080403:67, 46:04:080403:68, 46:04:080403:70, 46:04:080403:71, 46:04:080403:72, 46:04:080403:73, 46:04:080403:74, 

46:04:080403:78, 46:04:080403:79, 46:04:080403:80, 46:04:080401:178. 

        �BAFGD4 B5N9>FB6 >4C<F4?PAB7B EFDB<F9?PEF64 BCD989?9AO 6 EBBF69FEF6<< E CGA>F4@< 39, 65, 66,67,68  #D<>4; $BED99EFD4 « "5 GEF4AB6?9A<< HBD@O 
>4DFO-C?4A4 F9DD<FBD<<, HBD@O 4>F4 EB7?4EB64A<S @9EFBCB?B:9A<S 7D4A<J ;9@9?PAOI GK4EF>B6 CD< 6OCB?A9A<< >B@C?9>EAOI >484EFDB6OI D45BF < 
FD95B64A<= > <I CB87BFB6>9» BF 04.08.2021 № #/0337. 

4. 4.      �E>?NK9AAO9 B5N9>FO A986<:<@BEF<. 

�E>?RK9AO <; B5N9>FB6 >B@C?9>EAOI >484EFDB6OI D45BF, 6 B5N9>FB6 A986<:<@BEF< (�'), 7D4A<JO >BFBDOI GEF4AB6?9AO 6 EBBF69FEF6<< E FD95B64A<S@< 
89=EF6GRM97B ;4>BAB84F9?PEF64.  
�E>?RK9AB 5 B5N9>FB6 A986<:<@BEF< (�'): 46:04:080403:45, 46:04:080402:19, 46:04:080403:22, 46:04:080403:23, 46:04:080403:31, >BFBDO9 H4>F<K9E>< 
D4ECB?B:9AO 6 >64DF4?9 46:04:080402, 6 BFABL9A<<, >BFBDB7B CDB6B8SFES >B@C?9>EAO9 >484EFDB6O9 D45BFO. 
�E>?RK9A <; B5N9>FB6 >B@C?9>EAOI >484EFDB6OI D45BF, 1 B5N9>F A986<:<@BEF< ("�%), 7D4A<JO >BFBDB7B GEF4AB6?9AO 6 EBBF69FEF6<< E FD95B64A<S@< 
89=EF6GRM97B ;4>BAB84F9?PEF64. 
 

�E>?RK9AB 14 B5N9>FB6 A986<:<@BEF< ("�%): 46:04:080403:77, 46:04:080403:62, 46:04:080403:52, 46:04:080403:53, 46:04:080403:61, 46:04:080403:60, 

46:04:080403:57, 46:04:080403:58, 46:04:080403:59, 46:04:080403:62, 46:04:080403:66, 46:04:080403:81, 46:04:080403:82, 46:04:080403:84, >BFBDO9 H4>F<K9E>< 
D4ECB?B:9AO 6 >64DF4?9 46:04:080402, 6 BFABL9A<<, >BFBDB7B CDB6B8SFES >B@C?9>EAO9 >484EFDB6O9 D45BFO. 
 

"5N9>F A986<:<@BEF< ("�%) E >484EFDB6O@ AB@9DB@ 46:04:080403:56 5O? <E>?RK9A <; >B@C?9>EAOI >484EFDB6OI D45BF, F4> >4> BFEGFEF6G9F A4 @9EFABEF<. 
 
 

1. %6989A<O B CGA>F4I 79B89;<K9E>B= E9F<: 

№ 
C/C 

�<8 
79B89;<K
9E>B= 
E9F< 

!4;64A<9 CGA>F4 < 
F<C ;A4>4 

79B89;<K9E>B= E9F< 

%<EF9@4 
>BBD8<A4F 
CGA>F4 

79B89;<K9E>B= 
E9F< 

�BBD8<A4FO CGA>F4, @ 

�4F4 B5E?98B64A<O 
20 <NAO 2024 7. 

%6989A<O B EBEFBOA<< 

) Y 
A4DG:AB7B ;A4>4 

CGA>F4 J9AFD4 CGA>F4 @4D>< J9AFD4 
CGA>F4 

 

1 2 3 4 5 6 7 8 9 

1  

�BEG84DE
F69AA4S 
79B89;<K9
E>4S E9FP, 
3 >?4EE 

�4D4AB6B, C<D.  %�-46, ;BA4 
2 

380710,27 2193502,49 BFEGFEF6G9F BFEGFEF6G9F BFEGFEF6G9F 



 

 

�<EF № 5 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B CGA>F4I 79B89;<K9E>B= E9F< < ED98EF64I <;@9D9A<= 
1 2 3 4 5 6 7 8 9 

2  

�BEG84DE
F69AA4S 
79B89;<K9
E>4S E9FP, 
2 >?4EE 

"5D9;, C<D.  %�-46, ;BA4 
2 

394988,87 2214518,92 GFD4K9A EBID4A<?ES EBID4A<?ES 

3  

�BEG84DE
F69AA4S 
79B89;<K9
E>4S E9FP, 
3 >?4EE 

�B?79AP><=, C<D.  %�-46, ;BA4 
2 

388004,08 2226647,15 GFD4K9A EBID4A<?ES EBID4A<?ES 

 

2. %6989A<O B5 <ECB?P;B64AAOI ED98EF64I <;@9D9A<=: 

№ C/C 

!4<@9AB64A<9 < B5B;A4K9A<9 F<C4 
ED98EF64 <;@9D9A<= - CD<5BD4 
(<AEFDG@9AF4, 4CC4D4FGDO) 

�46B8E>B= <?< E9D<=AO= AB@9D 
ED98EF64 <;@9D9A<= 

$9>6<;<FO E6<89F9?PEF64 B CB69D>9 CD<5BD4 
(<AEFDG@9AF4, 4CC4D4FGDO) < (<?<) EDB> 89=EF6<O 

CB69D>< 
 

1 2 3 4 

1  
�CC4D4FGD4 79B89;<K9E>4S ECGFA<>B64S  
PrinCe i30 

3491926 %-�* /07-08-2023/267937866 

2  &4I9B@9FD Q?9>FDBAAO= SOUTH №3 287765 %-�* /07-08-2023/267937873 



 

 

�<EF № 6 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:1 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A56' 4 4 382267,00 2223386,09 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A57' 4 4 382290,80 2223413,92 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A58' 4 4 382271,85 2223429,29 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A59' 4 4 382236,75 2223461,24 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A60' 4 4 382229,59 2223469,10 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A61' 4 4 382211,96 2223485,69 
 9FB8 ECGFA<>B6OI 

79B89;<K9E><I 
Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 7 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

<;@9D9A<= 
(BCD989?9A<=) 

A62' 4 4 382197,55 2223471,37 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A63' 4 4 382189,08 2223478,01 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A64' 4 4 382166,38 2223448,67 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A65' 4 4 382180,17 2223436,27 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A66' 4 4 382221,21 2223414,27 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A56' 4 4 382267,00 2223386,09 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:1 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A56' A57' 36,62 4 EB7?4EB64AB 
A57' A58' 24,40 4 EB7?4EB64AB 
A58' A59' 47,46 4 EB7?4EB64AB 
A59' A60' 10,63 4 EB7?4EB64AB 
A60' A61' 24,21 4 EB7?4EB64AB 



 

 

�<EF № 8 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A61' A62' 20,32 4 EB7?4EB64AB 
A62' A63' 10,76 4 EB7?4EB64AB 
A63' A64' 37,10 4 EB7?4EB64AB 
A64' A65' 18,55 4 EB7?4EB64AB 
A65' A66' 46,56 4 EB7?4EB64AB 
A66' A56' 53,77 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:1 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 16 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
5400±247  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 1,00 · 5000  = 247  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 400 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:78  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:1 : 

1. 4 
 
 



 

 

�<EF № 9 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:2 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A41' 4 4 382345,35 2223428,38 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A42' 4 4 382365,48 2223457,03 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A43' 4 4 382328,92 2223482,60 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A44' 4 4 382336,41 2223495,32 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A45' 4 4 382277,86 2223545,44 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A46' 4 4 382264,69 2223527,90 
 9FB8 ECGFA<>B6OI 

79B89;<K9E><I 
Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 10 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

<;@9D9A<= 
(BCD989?9A<=) 

A47' 4 4 382252,11 2223512,72 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A48' 4 4 382254,94 2223499,12 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A41' 4 4 382345,35 2223428,38 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:2 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A41' A42' 35,01 4 EB7?4EB64AB 
A42' A43' 44,61 4 EB7?4EB64AB 
A43' A44' 14,76 4 EB7?4EB64AB 
A44' A45' 77,07 4 EB7?4EB64AB 
A45' A46' 21,93 4 EB7?4EB64AB 
A46' A47' 19,72 4 EB7?4EB64AB 
A47' A48' 13,89 4 EB7?4EB64AB 
A48' A41' 114,80 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:2 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 14 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 



 

 

�<EF № 11 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
5325±247  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 1,00 · 5000  = 247  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 325 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:80  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:2 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:3 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 



 

 

�<EF № 12 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A73' 4 4 382344,56 2223489,15 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A74' 4 4 382366,73 2223516,85 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A75' 4 4 382309,92 2223574,03 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A45' 4 4 382277,86 2223545,44 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A44' 4 4 382336,41 2223495,32 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A73' 4 4 382344,56 2223489,15 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:3 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A73' A74' 35,48 4 EB7?4EB64AB 
A74' A75' 80,60 4 EB7?4EB64AB 
A75' A45' 42,96 4 EB7?4EB64AB 
A45' A44' 77,07 4 EB7?4EB64AB 
A44' A73' 10,22 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:3 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 14 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. #?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 3300±1005  



 

 

�<EF № 13 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2
 

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 3300  = 1005  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
3300  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:3 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:4 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A38' 4 4 382603,73 2223667,42 �4DFB@9FD<K9E><= Mt = 0,0005 / (1:5000) = 2,5 @ 4 



 

 

�<EF № 14 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

@9FB8 

A37' 4 4 382601,67 2223670,25 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A36' 4 4 382542,94 2223740,15 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A35' 4 4 382527,60 2223754,92 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A39' 4 4 382524,37 2223758,36 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

8 4 4 382501,95 2223737,66 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

13 4 4 382512,83 2223726,28 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

11 4 4 382515,07 2223723,48 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

10 4 4 382530,95 2223702,62 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

9 4 4 382557,17 2223668,61 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 15 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A40' 4 4 382574,50 2223643,17 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A38' 4 4 382603,73 2223667,42 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:4 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A38' A37' 3,50 4 EB7?4EB64AB 
A37' A36' 91,30 4 EB7?4EB64AB 
A36' A35' 21,29 4 EB7?4EB64AB 
A35' A39' 4,72 4 EB7?4EB64AB 
A39' 8 30,51 4 EB7?4EB64AB 

8 13 15,74 4 EB7?4EB64AB 
13 11 3,59 4 EB7?4EB64AB 
11 10 26,22 4 EB7?4EB64AB 
10 9 42,94 4 EB7?4EB64AB 
9 A40' 30,78 4 EB7?4EB64AB 
A40' A38' 37,98 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:4 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 12 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
4067±1134  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 4200  = 1134  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
4200  



 

 

�<EF № 16 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 -133 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:72  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:4 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:6 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A26' 4 4 382711,21 2223826,77 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A27' 4 4 382651,67 2223911,63 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A28' 4 4 382615,46 2223866,59 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A29' 4 4 382642,82 2223836,48 �4DFB@9FD<K9E><= Mt = 0,0005 / (1:5000) = 2,5 @ 4 



 

 

�<EF № 17 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

@9FB8 

A30' 4 4 382671,50 2223796,56 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A26' 4 4 382711,21 2223826,77 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:6 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A26' A27' 103,66 4 EB7?4EB64AB 
A27' A28' 57,79 4 EB7?4EB64AB 
A28' A29' 40,68 4 EB7?4EB64AB 
A29' A30' 49,15 4 EB7?4EB64AB 
A30' A26' 49,90 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:6 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 9 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
5000±1237  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 5000  = 1237  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 



 

 

�<EF № 18 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:71  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:6 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:7 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A31' 4 4 382630,36 2223692,62 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

7 4 4 382608,17 2223719,34 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A32' 4 4 382557,59 2223777,62 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 19 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

6 4 4 382548,63 2223787,98 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A33' 4 4 382536,17 2223772,44 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A34' 4 4 382527,20 2223761,14 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A35' 4 4 382527,60 2223754,92 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A36' 4 4 382542,94 2223740,15 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A37' 4 4 382601,67 2223670,25 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A31' 4 4 382630,36 2223692,62 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:7 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A31' 7 34,73 4 EB7?4EB64AB 
7 A32' 77,17 4 EB7?4EB64AB 
A32' 6 13,70 4 EB7?4EB64AB 



 

 

�<EF № 20 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

6 A33' 19,92 4 EB7?4EB64AB 
A33' A34' 14,43 4 EB7?4EB64AB 
A34' A35' 6,23 4 EB7?4EB64AB 
A35' A36' 21,29 4 EB7?4EB64AB 
A36' A37' 91,30 4 EB7?4EB64AB 
A37' A31' 36,38 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:7 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 11 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
4400±23  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 0,10 · 4400  = 23  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
4400  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:54  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:7 : 

1. 4 
 
 



 

 

�<EF № 21 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:8 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A71' 4 4 382717,36 2223818,05 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A26' 4 4 382711,21 2223826,77 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A30' 4 4 382671,50 2223796,56 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A72' 4 4 382676,85 2223788,85 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A71' 4 4 382717,36 2223818,05 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:8 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A71' A26' 10,67 4 EB7?4EB64AB 
A26' A30' 49,90 4 EB7?4EB64AB 
A30' A72' 9,38 4 EB7?4EB64AB 
A72' A71' 49,94 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:8 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 



 

 

�<EF № 22 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 9 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
500±391  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 500  = 391  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
500  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:8 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:9 : 
 



 

 

�<EF № 23 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A17' 4 4 382755,27 2223829,83 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A15' 4 4 382742,06 2223847,65 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A14' 4 4 382667,79 2223947,56 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A20' 4 4 382657,78 2223932,16 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A21' 4 4 382647,93 2223916,98 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A22' 4 4 382723,67 2223809,06 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A17' 4 4 382755,27 2223829,83 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:9 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A17' A15' 22,18 4 EB7?4EB64AB 



 

 

�<EF № 24 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A15' A14' 124,49 4 EB7?4EB64AB 
A14' A20' 18,37 4 EB7?4EB64AB 
A20' A21' 18,10 4 EB7?4EB64AB 
A21' A22' 131,85 4 EB7?4EB64AB 
A22' A17' 37,81 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:9 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 8 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
5000±1237  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 5000  = 1237  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:64  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:9 : 

1. 4 
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1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:10 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A24' 4 4 382766,65 2223813,28 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A23' 4 4 382755,62 2223829,36 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A17' 4 4 382755,27 2223829,83 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A22' 4 4 382723,67 2223809,06 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A25' 4 4 382736,39 2223790,75 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A24' 4 4 382766,65 2223813,28 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:10 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A24' A23' 19,50 4 EB7?4EB64AB 
A23' A17' 0,59 4 EB7?4EB64AB 
A17' A22' 37,81 4 EB7?4EB64AB 
A22' A25' 22,29 4 EB7?4EB64AB 
A25' A24' 37,73 4 EB7?4EB64AB 
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3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:10 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 8 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
800±495  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 800  = 495  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
800  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:10 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:11 : 
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�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A13' 4 4 382773,98 2223871,48 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

15 4 4 382714,93 2223948,78 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

14 4 4 382708,52 2223957,28 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

12 4 4 382691,29 2223975,67 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A14' 4 4 382667,79 2223947,56 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A15' 4 4 382742,06 2223847,65 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 
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�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A13' 4 4 382773,98 2223871,48 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:11 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A13' 15 97,27 4 EB7?4EB64AB 
15 14 10,65 4 EB7?4EB64AB 
14 12 25,20 4 EB7?4EB64AB 
12 A14' 36,64 4 EB7?4EB64AB 
A14' A15' 124,49 4 EB7?4EB64AB 
A15' A13' 39,83 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:11 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 7 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
5000±25  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 0,10 · 5000  = 25  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 



 

 

�<EF № 29 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:74  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:11 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:12 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A16' 4 4 382787,49 2223853,80 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A13' 4 4 382773,98 2223871,48 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A15' 4 4 382742,06 2223847,65 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A23' 4 4 382755,62 2223829,36 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 



 

 

�<EF № 30 
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%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A16' 4 4 382787,49 2223853,80 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:12 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A16' A13' 22,25 4 EB7?4EB64AB 
A13' A15' 39,83 4 EB7?4EB64AB 
A15' A23' 22,77 4 EB7?4EB64AB 
A23' A16' 40,16 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:12 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 7 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
900±525  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 900  = 525  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
900  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. %6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< ;9@?< B5M97B CB?P;B64A<S 



 

 

�<EF № 31 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:12 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:14 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A18' 4 4 382686,64 2223983,66 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

16 4 4 382685,06 2223985,07 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

3 4 4 382679,12 2223989,86 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

2 4 4 382673,81 2223995,25 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 32 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A19' 4 4 382666,54 2224001,86 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A69' 4 4 382645,51 2223971,77 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A70' 4 4 382643,78 2223961,22 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A93' 4 4 382654,79 2223950,35 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A18' 4 4 382686,64 2223983,66 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:14 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A18' 16 2,12 4 EB7?4EB64AB 
16 3 7,63 4 EB7?4EB64AB 
3 2 7,57 4 EB7?4EB64AB 
2 A19' 9,83 4 EB7?4EB64AB 
A19' A69' 36,71 4 EB7?4EB64AB 
A69' A70' 10,69 4 EB7?4EB64AB 
A70' A93' 15,47 4 EB7?4EB64AB 
A93' A18' 46,09 4 EB7?4EB64AB 

 



 

 

�<EF № 33 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:14 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 6 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
1053±27  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 0,10 · 5900  = 27  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5900  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 -4847 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:14 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:15 : 
 



 

 

�<EF № 34 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A11' 4 4 382810,20 2223903,18 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A9' 4 4 382730,30 2224009,58 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

1 4 4 382713,14 2223997,52 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A12' 4 4 382796,81 2223891,36 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A11' 4 4 382810,20 2223903,18 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:15 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A11' A9' 133,06 4 EB7?4EB64AB 
A9' 1 20,97 4 EB7?4EB64AB 

1 A12' 135,17 4 EB7?4EB64AB 
A12' A11' 17,86 4 EB7?4EB64AB 

 



 

 

�<EF № 35 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:15 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 5 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
2600±18  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 0,10 · 2600  = 18  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
2600  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080401:178  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:15 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:16 : 
 



 

 

�<EF № 36 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A7' 4 4 382831,11 2223922,17 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A6' 4 4 382829,19 2223924,75 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A5' 4 4 382752,69 2224024,86 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A8' 4 4 382750,65 2224027,42 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A9' 4 4 382730,30 2224009,58 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A10' 4 4 382809,90 2223903,65 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A7' 4 4 382831,11 2223922,17 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:16 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A7' A6' 3,22 4 EB7?4EB64AB 
A6' A5' 125,99 4 EB7?4EB64AB 
A5' A8' 3,27 4 EB7?4EB64AB 
A8' A9' 27,06 4 EB7?4EB64AB 
A9' A10' 132,50 4 EB7?4EB64AB 



 

 

�<EF № 37 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A10' A7' 28,16 4 EB7?4EB64AB 
 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:16 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 4 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
3656±1020  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 3400  = 1020  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
3400  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 256 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:79  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:16 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:17 : 
 



 

 

�<EF № 38 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A3' 4 4 382858,74 2223946,07 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A4' 4 4 382779,18 2224046,77 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A5' 4 4 382752,69 2224024,86 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A6' 4 4 382829,19 2223924,75 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:10000) = 5,0 @ 4 

A3' 4 4 382858,74 2223946,07 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:17 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A3' A4' 128,34 4 EB7?4EB64AB 
A4' A5' 34,38 4 EB7?4EB64AB 
A5' A6' 125,99 4 EB7?4EB64AB 
A6' A3' 36,44 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:17 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 



 

 

�<EF № 39 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 3 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
4500±1174  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 4500  = 1174  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
4500  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:17 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:18 : 
 



 

 

�<EF № 40 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A88' 4 4 383080,78 2223774,27 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A89' 4 4 383049,56 2223819,03 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A79' 4 4 383047,36 2223816,71 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A78' 4 4 383029,21 2223798,74 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A87' 4 4 383008,30 2223778,38 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A86' 4 4 383001,94 2223771,10 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A90' 4 4 383018,48 2223739,66 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A91' 4 4 382990,64 2223711,82 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A92' 4 4 383008,51 2223694,14 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A88' 4 4 383080,78 2223774,27 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:18 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 



 

 

�<EF № 41 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 4 5 

A88' A89' 54,57 4 EB7?4EB64AB 
A89' A79' 3,20 4 EB7?4EB64AB 
A79' A78' 25,54 4 EB7?4EB64AB 
A78' A87' 29,18 4 EB7?4EB64AB 
A87' A86' 9,67 4 EB7?4EB64AB 
A86' A90' 35,53 4 EB7?4EB64AB 
A90' A91' 39,37 4 EB7?4EB64AB 
A91' A92' 25,14 4 EB7?4EB64AB 
A92' A88' 107,91 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:18 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 18 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
4834±1237  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 5000  = 1237  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
5000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 -166 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:67  

9. %6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< ;9@?< B5M97B CB?P;B64A<S 



 

 

�<EF № 42 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:18 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:19 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A78' 4 4 383029,21 2223798,74 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A79' 4 4 383047,36 2223816,71 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A80' 4 4 383037,69 2223832,67 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A81' 4 4 383016,33 2223866,83 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A82' 4 4 382986,91 2223835,33 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A83' 4 4 382997,89 2223802,32 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A84' 4 4 383002,13 2223796,86 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A85' 4 4 382990,84 2223785,20 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 



 

 

�<EF № 43 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A86' 4 4 383001,94 2223771,10 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A87' 4 4 383008,30 2223778,38 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A78' 4 4 383029,21 2223798,74 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:19 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A78' A79' 25,54 4 EB7?4EB64AB 
A79' A80' 18,66 4 EB7?4EB64AB 
A80' A81' 40,29 4 EB7?4EB64AB 
A81' A82' 43,10 4 EB7?4EB64AB 
A82' A83' 34,79 4 EB7?4EB64AB 
A83' A84' 6,91 4 EB7?4EB64AB 
A84' A85' 16,23 4 EB7?4EB64AB 
A85' A86' 17,94 4 EB7?4EB64AB 
A86' A87' 9,67 4 EB7?4EB64AB 
A87' A78' 29,18 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:19 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 17 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
3000±990  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 3200  = 990  

4. #?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 3200  



 

 

�<EF № 44 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2
 

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 -200 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:68  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:19 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:46 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A76' 4 4 382926,91 2224000,94 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

5 4 4 382922,44 2224007,10 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 45 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

4 4 4 382892,39 2223981,57 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A77' 4 4 382897,38 2223975,64 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A76' 4 4 382926,91 2224000,94 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:46 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A76' 5 7,61 4 EB7?4EB64AB 
5 4 39,43 4 EB7?4EB64AB 
4 A77' 7,75 4 EB7?4EB64AB 
A77' A76' 38,89 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:46 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 1 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
300±303  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 300  = 303  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
300  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  



 

 

�<EF № 46 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:46 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:50 : 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A49' 4 4 382296,37 2223413,96 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A50' 4 4 382321,22 2223447,24 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A48' 4 4 382254,94 2223499,12 
 9FB8 ECGFA<>B6OI 

79B89;<K9E><I 
Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 



 

 

�<EF № 47 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

<;@9D9A<= 
(BCD989?9A<=) 

A51' 4 4 382241,34 2223491,03 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A52' 4 4 382231,14 2223476,49 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A53' 4 4 382231,61 2223472,60 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A54' 4 4 382234,94 2223469,58 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A55' 4 4 382273,98 2223434,22 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

A49' 4 4 382296,37 2223413,96 

 9FB8 ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 

(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = 

SQRT(0,6^2+0,08^2) = 0,1 @ 
4 

 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:50 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A49' A50' 41,53 4 EB7?4EB64AB 
A50' A48' 84,17 4 EB7?4EB64AB 
A48' A51' 15,82 4 EB7?4EB64AB 
A51' A52' 17,76 4 EB7?4EB64AB 
A52' A53' 3,92 4 EB7?4EB64AB 



 

 

�<EF № 48 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

A53' A54' 4,50 4 EB7?4EB64AB 
A54' A55' 52,67 4 EB7?4EB64AB 
A55' A49' 30,20 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:50 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

B5?. �GDE>4S, D-A �BDL9K9AE><=, E/E !<:A95BD>B6E><=, E. �B?BFB, G?. 
)GFBDE>4S, 8B@ 15 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
3400±192  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 1,00 · 3000  = 192  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
3000  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 400 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

46:04:080403:51  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:50 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I 7D4A<JO GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:86 : 
 



 

 

�<EF № 49 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9A<9 
I4D4>F9DAOI 
FBK9> 7D4A<J 

�BBD8<A4FO, @ 

 9FB8 BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O 
D4EK9F4 ED98A9= >648D4F<K9E>B= 
CB7D9LABEF< BCD989?9A<O 

>BBD8<A4F I4D4>F9DAOI FBK9> 
7D4A<J ( t), E CB8EF46?9AAO@< 6 
F4><9 HBD@G?O ;A4K9A<O@< < 
<FB7B6O9 (6OK<E?9AAO9) 

;A4K9A<O  t, @ 

"C<E4A<9 
;4>D9C?9A<O 
FBK>< 

EB89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

BCD989?9AO 6 D9;G?PF4F9 
6OCB?A9A<O 
>B@C?9>EAOI 

>484EFDB6OI D45BF 

X Y X Y 

 

1 2 3 4 5 6 7 8 

A1' 4 4 382897,16 2223947,88 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A2' 4 4 382800,13 2224067,68 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A67' 4 4 382773,36 2224054,16 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A68' 4 4 382874,12 2223926,61 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 

A1' 4 4 382897,16 2223947,88 
�4DFB@9FD<K9E><= 

@9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 4 
 

2. %6989A<O B K4EFOI 7D4A<J GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:86 : 

"5B;A4K9A<9 K4EF< 7D4A<J �BD<;BAF4?PAB9 
CDB?B:9A<9 (S), @ 

"C<E4A<9 CDBIB:89A<O K4EF< 
7D4A<J 

%6989A<O B EB7?4EB64A<< @9EFBCB?B:9A<O 
7D4A<J(EB7?4EB64AB/ECBDAB9) BF F. 8B F. 

 

1 2 3 4 5 

A1' A2' 154,17 4 EB7?4EB64AB 
A2' A67' 29,99 4 EB7?4EB64AB 
A67' A68' 162,55 4 EB7?4EB64AB 
A68' A1' 31,36 4 EB7?4EB64AB 

 

3. %6989A<O B I4D4>F9D<EF<>4I GFBKAO9@B7B ;9@9?PAB7B GK4EF>4 E >484EFDB6O@ AB@9DB@  46:04:080403:86 : 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<> ;9@9?PAB7B GK4EF>4 �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �8D9E ;9@9?PAB7B GK4EF>4 4 



 

 

�<EF № 50 

�А$&А-#�А! &�$$�&"$�� 

%6989A<O B5 GFBKAO9@OI ;9@9?PAOI GK4EF>4I 

1 2 3 

1.1. 

%6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 (CD< BFEGFEF6<< 48D9E4) 6 
EFDG>FGD<DB64AAB@ 6 EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 
48D9EAB= E<EF9@B= 6<89 

�GDE>4S B5?4EFP, �BDL9K9AE><= D4=BA, !<:A95BD>B6E><= E9?PEB69F, E. 
�B?BFB, G?.)GFBDE>4S, 8.2 

1.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< ;9@9?PAB7B GK4EF>4 4 

2. 
#?BM48P ;9@9?PAB7B GK4EF>4 ± 69?<K<A4 CB7D9LABEF< 
BCD989?9A<S(6OK<E?9A<S) C?BM48< ($ ± Δ$), @2

 
4800±1212  

3. 

(BD@G?4, CD<@9A9AA4S 8?S 6OK<E?9A<S CD989?PAB= CB7D9LABEF< 
BCD989?9A<S C?BM48< ;9@9?PAB7B GK4EF>4, E CB8EF46?9AAO@< ;A4K9A<S@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<S (Δ$), @2 

ΔP = 3,5 · Mt · P8B>  = 3,5 · 5,00 · 4800  = 1212  

4. 
#?BM48P ;9@9?PAB7B GK4EF>4 EB7?4EAB E6989A<S@ �8<AB7B 
7BEG84DEF69AAB7B D99EFD4 A986<:<@BEF< ($>48), @2

 
4800  

5. "J9A>4 D4EIB:89A<S $ < $>48 ($ – $>48), @2
 0 

6. 
#D989?PAO= @<A<@4?PAO= < @4>E<@4?PAO= D4;@9DO ;9@9?PAB7B GK4EF>4 
($@<A < $@4>E), @2 

 
P@<A=400, P@4>E=5000  

7. �<8 (6<8O) D4;D9L9AAB7B <ECB?P;B64A<S �?S 6989A<S ?<KAB7B CB8EB5AB7B IB;S=EF64 
7.1. �BCB?A<F9?PAO9 E6989A<S B5 <ECB?P;B64A<< ;9@9?PAB7B GK4EF>4 4 

8. 

�484EFDB6O= <?< <AB= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64, 
D4ECB?B:9AAB7B A4 ;9@9?PAB@ GK4EF>9 

4  

9. 
%6989A<S B ;9@9?PAOI GK4EF>4I (;9@?SI B5M97B CB?P;B64A<S, F9DD<FBD<< 
B5M97B CB?P;B64A<S), CBED98EF6B@ >BFBDOI B59EC9K<649FES 8BEFGC 

;9@?< B5M97B CB?P;B64A<S 

10. �AO9 E6989A<S 4 
 

4. #BOEA9A<O > E6989A<O@ B5 GFBKAO9@B@ ;9@9?PAB@ GK4EF>9 E >484EFDB6O@ AB@9DB@  46:04:080403:86 : 

1. 4 
 



 

 

�<EF № 51 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080401:178 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A23" 4 4 4 382734,14 2223998,20 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A24" 4 4 4 382729,85 2224003,98 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A25" 4 4 4 382719,96 2223995,40 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A26" 4 4 4 382724,44 2223989,61 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A23" 4 4 4 382734,14 2223998,20 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080401:178 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:15  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

�GDE>4S B5?., @.D-A �BDL9K9AE><=, E.C. !<:A95BD>B6E><= E9?PEB69F, E. 
�B?BFB, G?. )GFBDE>4S, ;/G 5 



 

 

�<EF № 52 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
1 2 3 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< @.D-A �BDL9K9AE><=, E.C. !<:A95BD>B6E><= E9?PEB69F, ;/G 5 
6. �AO9 E6989A<S 4 

 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080401:178 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:51 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A53" 4 4 4 382245,37 2223477,52 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A54" 4 4 4 382252,46 2223486,22 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A55" 4 4 4 382247,21 2223490,24 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A56" 4 4 4 382240,24 2223481,69 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 



 

 

�<EF № 53 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 

A53" 4 4 4 382245,37 2223477,52 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:51 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:50  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 15 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:51 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:54 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 



 

 

�<EF № 54 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 

A37" 4 4 4 382540,77 2223756,64 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A38" 4 4 4 382546,88 2223762,90 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A39" 4 4 4 382540,60 2223768,71 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A40" 4 4 4 382534,75 2223761,95 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A37" 4 4 4 382540,77 2223756,64 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:54 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:7  

4. 'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 46:04:080403  



 

 

�<EF № 55 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
1 2 3 

D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 
5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 11 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:54 : 
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79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A14" 4 4 4 382707,92 2223987,78 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A15" 4 4 4 382705,52 2223985,37 4  9FB8 Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 



 

 

�<EF № 61 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

0,1 @ 

A16" 4 4 4 382707,03 2223983,67 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A17" 4 4 4 382700,67 2223977,06 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A18" 4 4 4 382704,60 2223973,20 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A13" 4 4 4 382713,52 2223982,28 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:70 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:13  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  



 

 

�<EF № 62 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
1 2 3 

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 6 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:70 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:71 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A33" 4 4 4 382625,39 2223862,83 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A34" 4 4 4 382632,97 2223872,07 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A35" 4 4 4 382632,15 2223872,76 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A36" 4 4 4 382633,49 2223874,31 4  9FB8 Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 



 

 

�<EF № 63 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

0,1 @ 

A63" 4 4 4 382631,05 2223876,38 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A64" 4 4 4 382629,54 2223874,73 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A65" 4 4 4 382626,71 2223877,17 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A66" 4 4 4 382619,25 2223867,95 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A33" 4 4 4 382625,39 2223862,83 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:71 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  



 

 

�<EF № 64 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
1 2 3 

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:6  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 9 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:71 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:72 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A41" 4 4 4 382524,45 2223736,76 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A42" 4 4 4 382532,13 2223744,59 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A43" 4 4 4 382524,98 2223752,13 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A44" 4 4 4 382517,29 2223744,62 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A41" 4 4 4 382524,45 2223736,76 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

 



 

 

�<EF № 65 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:72 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:4  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 12 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:72 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:73 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A45" 4 4 4 382492,78 2223701,57 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A46" 4 4 4 382501,34 2223710,83 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A47" 4 4 4 382495,57 2223717,64 4 �4DFB@9FD<K9E Mt = 0,0005 / (1:5000) = 2,5 @ 



 

 

�<EF № 66 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
><= @9FB8 

A48" 4 4 4 382486,15 2223708,73 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A45" 4 4 4 382492,78 2223701,57 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:73 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:33  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 13 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:73 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:74 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 



 

 

�<EF № 67 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 

A19" 4 4 4 382680,40 2223948,76 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A20" 4 4 4 382689,24 2223958,49 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A21" 4 4 4 382685,47 2223961,92 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A22" 4 4 4 382679,19 2223955,10 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A27" 4 4 4 382677,65 2223956,45 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A28" 4 4 4 382675,07 2223953,60 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A19" 4 4 4 382680,40 2223948,76 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 
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2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:74 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:11  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

$BEE<=E>4S (989D4J<S, �GDE>4S B5?4EFP, @GA<J<C4?PAO= D4=BA 
�BDL9K9AE><=, E9?PE>B9 CBE9?9A<9 !<:A95BD>B6E><= E9?PEB69F, E9?B 
�B?BFB, G?<J4 )GFBDE>4S, 8B@ 7 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:74 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:78 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A57" 4 4 4 382193,30 2223457,87 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 



 

 

�<EF № 69 

�А$&А-#�А! &�$$�&"$�� 

"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 

A58" 4 4 4 382199,07 2223467,77 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A59" 4 4 4 382193,17 2223471,42 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A60" 4 4 4 382191,52 2223468,73 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A61" 4 4 4 382193,28 2223467,57 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A62" 4 4 4 382189,03 2223460,67 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A57" 4 4 4 382193,30 2223457,87 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:78 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 
2. $4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 4  
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"C<E4A<9 @9EFBCB?B:9A<O ;84A<=, EBBDG:9A<=, B5N9>FB6 A9;469DL9AAB7B EFDB<F9?PEF64 A4 ;9@9?PAB@ GK4EF>9 
1 2 3 

;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:1  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

�GDE>4S B5?4EFP, D-A. �BDL9K9AE><=, E. �B?BFB, G?. )GFBDE>4S, 8. 16 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:78 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:79 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A9" 4 4 4 382752,61 2224013,94 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A10" 4 4 4 382747,95 2224019,72 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A11" 4 4 4 382740,01 2224013,32 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A12" 4 4 4 382744,90 2224007,25 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 

A9" 4 4 4 382752,61 2224013,94 4 
�4DFB@9FD<K9E
><= @9FB8 Mt = 0,0005 / (1:5000) = 2,5 @ 
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№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
>BFBDB7B (>BFBDOI) D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F 
A9;469DL9AAB7B EFDB<F9?PEF64 

46:04:080403:16  

4. 
'A<>4?PAO= GK9FAO= AB@9D >484EFDB6B7B >64DF4?4, 6 7D4A<J4I >BFBDB7B 
D4ECB?B:9AO ;84A<9, EBBDG:9A<9, B5N9>F A9;469DL9AAB7B EFDB<F9?PEF64 46:04:080403  

5. �8D9E ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4 

5.1. 

%6989A<S B @9EFBCB?B:9A<< ;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B 
EFDB<F9?PEF64 (CD< BFEGFEF6<< 48D9E4) 6 EFDG>FGD<DB64AAB@ 6 
EBBF69FEF6<< E H989D4?PAB= <AHBD@4J<BAAB= 48D9EAB= E<EF9@B= 6<89 

�GDE>4S B5?4EFP, �BDL9K9AE><= D4=BA, !<:A95BD>B6E><= E9?PEB69F, E. 
�B?BFB, G?. )GFBDE>4S, 8. 4 

5.2. �BCB?A<F9?PAO9 E6989A<S B @9EFBCB?B:9A<< 4 

6. �AO9 E6989A<S 4 
 

3. #BOEA9A<O > E6989A<O@ B5 B5N9>F9 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:79 : 

1. 4 
 
 

1. %6989A<O B I4D4>F9DAOI FBK>4I >BAFGD4 B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:80 
 

%<EF9@4 >BBD8<A4F  %�-46 �BA4 № 2 

"5B;A4K9
A<9 

I4D4>F9D
AOI 
FBK9> 
>BAFGD4 

%B89D:4FEO 6 �8<AB@ 
7BEG84DEF69AAB@ D99EFD9 

A986<:<@BEF< 

"CD989?9AO 6 IB89 6OCB?A9A<O 
>B@C?9>EAOI >484EFDB6OI D45BF  9FB8 

BCD989?9A<O 
>BBD8<A4F 

(BD@G?O, CD<@9A9AAO9 8?O D4EK9F4 ED98A9= 
>648D4F<K9E>B= CB7D9LABEF< BCD989?9A<O 
>BBD8<A4F I4D4>F9DAOI FBK9> 7D4A<J ( t), E 
CB8EF46?9AAO@< 6 F4><9 HBD@G?O ;A4K9A<O@< 
< <FB7B6O9 (6OK<E?9AAO9) ;A4K9A<O  t, @ 

�BBD8<A4FO, @ 
$48<GE

, @ 
�BBD8<A4FO, @ 

$48<GE, 
@ 

X Y R X Y R 
 

1 2 3 4 5 6 7 8 9 

A49" 4 4 4 382277,44 2223508,74 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 
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A50" 4 4 4 382270,36 2223515,14 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A51" 4 4 4 382265,17 2223509,10 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A52" 4 4 4 382272,10 2223502,87 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

A49" 4 4 4 382277,44 2223508,74 4 

 9FB8 
ECGFA<>B6OI 
79B89;<K9E><I 
<;@9D9A<= 
(BCD989?9A<=) 

Mt = SQRT(M1^2+M2^2) = SQRT(0,6^2+0,08^2) = 

0,1 @ 

 

2. %6989A<O B I4D4>F9D<EF<>4I B5N9>F4 A986<:<@BEF< E >484EFDB6O@ AB@9DB@  46:04:080403:80 

№ C/C !4<@9AB64A<9 I4D4>F9D<EF<>< �A4K9A<9 I4D4>F9D<EF<>< 
 

1 2 3 

1. �<8 B5N9>F4 A986<:<@BEF< ;84A<9 

2. 
$4A99 CD<E6B9AAO= 7BEG84DEF69AAO= GK9FAO= AB@9D (<A69AF4DAO=) 
;84A<S, EBBDG:9A<S, B5N9>F4 A9;469DL9AAB7B EFDB<F9?PEF64 4  

3. 

�484EFDB6O= AB@9D ;9@9?PAB7B GK4EF>4 (;9@9?PAOI GK4EF>B6), 6 7D4A<J4I 
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